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v = 10 #:&== 0 [m/=]

x0 = 0.0  U&Ed =0 [m] ®

t = 0.0 # 8FfE t[ls]
dt = 0.01 # XY SEFEDIEAL => 2 FOREBE

TIME END = Z0 ‘ ‘ ‘

while int(t) < TIME END: 0.017 0.02%) 0.03%)
0.01# L DB
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1 import matplot!lib.pyplot as plt
2y = 10 ##8=EEZE v0 [m/=] & 7E
3x =0.04 FNEAGFE <0 [m]
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5t = 0.0 4 85fE tls]

6 dt = 0.01 § Xt 38F/E DAt

.

& TIME END = 20
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13 while int(t) < TIME END:

4@ t += dt

15@ 4 [x (2, At OEICIEATTZES T 2T ]
]
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]
]
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7o (tlist.append(t) pepg o cfr@# R
8  xlist.append(x] => 2z rOREBEE

g

0 plt.plot(tlist, xlist)

21 plt.show()
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mport matplotlib.pyplot as plt
= 0.8 ¢# ENMNREE egln/s"2]
10 ##E=E v0 [m/s]

100 % #EASE x0 [m]

o= M —
I

0.0 ¢ B5f tls]
dt = 0.01 ¢ U 2FREOEAL

TIME_END = 20

tlist = []
“list = []

while x > 0O

to+= dt

f [viz, At ORICEBZEREEEZR ]

# [x hvim, At OEICESTCEREES| <]

tlist.append(t]
x| ist.append(x)

plt.plotitlist, xlist)
plt.show()
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. t=0THEAGE X0, HEAZRE VOEEMDMRIZX L T, —ED ARSI Y KL+ 2ZBNZDUVT

MEAGIE X0, MELEE VO,BEmM, AFZ1—THhSZITHY, BECEDHNEZRI I T 72K R-T S0
G5 LEERLTLLIEE0L. (H[s]Xx[M]F 5 Z) TIME_END = 20/ TOKTTY".

2. t=0THHLIE x0, BEEMDMALNKERE v EEEFHZEITOTLSEE,

—EDAFBHIANYIEH HEE ¢, Z1—THLRITIRY, TOEHDRAIENZ]. ERBRICT ST 5T
OJ 5 LEERLTLIZELY. TIME_END = 20/ TOKTT.
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x(t) Zgt2 + vet + %,
v E v(t) = x'(t)
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import numpy as np
import matplotlib.pyvplot as plt

Fl=int (input (" BLERL F1: 7))
F2=int (input (" BIEE F2: 7))
A=1

t=np.arange(-1, 1, 1/100)
w=A¥ np.sin(Zknp.pi ¥F1XL)+A% np.sin(Z%np.pi¥F2xt)

plt.xlabel("t7]

plt.vlabel ["y7)
plt.plot(t, v)
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TIMES = O
num_person_list=[]
while TIMES <= 100000:
time dif = 0
num_person=0
time end = 120
time dif list = []

for k in range(time end):
x = random. random( ]

if (x < 0.05):
time dif list.append(time dif)
time dif =10
num_person +=1

else:
time dif += 1

num_person_|ist.append(num_person)
TIMES +=1

plt.hist(num_person_list,bins= 30, density=True)
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